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01. (w/‘_ﬁ+ﬁ)x(\/1_—ﬁ)?ﬂﬂ@%fThevalueof (\/ﬁ+ﬁ)x(«/ﬁ—ﬁ)is
(A) -3 (B) 18
(C) 4 (D) -18

02. < fagali P(5,5) 3 Q(5,10) % &= PQ gt 8 / The distance PQ between the two points P(5,5)
and Q(5,10) is

(A) 03STE /0 unit (B) 53hISAT/ 5 units
(C) 15 31sal/ 15 units (D) 50 $hI$41/ 50 units
03. TH @I x + y = 8 H A% x G{t ! HIEdl § —— T / The graph of line x + y = 8 intersects
the x axis at
(A) (8,0 (B) (0,-8)
(C) (8,0 (D) (0.8

04. afe T ot & u&r &1 e, ot faskol St ewamg B / If the sides of a square are 1 unit, the length of

the diagonal is

(A)  1.414 5613 / 1.414 unit (B) 23T /2 unit

(C) 13T /1 unit (D) 3.14 373 / 3.14 unit

05. T g #, 9199l (chord) i 3Tferesan &g & / The maximum length of chord in a circle is
(A) PBr==1/Radius (B) TE/Diameter

(C) R/ Circumference (D) T2/ Radius/2

Bidw efeorbleuefl g rmisdl fimieuea 2_faiw austrsib/
T AgA wierad [ ISRO Propulsion Complex — ertiyed/3tier/April 10, 2022




U

/1 e @t (freR) A

i5Fa TECHNICIAN ‘B’ (FITTER)

06. = @ ==t AB & gt 12 cm 3R =mwehel & =T 10 om 2, @ I 1 = g / Distance of

chord AB from the centre is 12 cm and length of the chord is 10 cm then the diameter of the circle
is
(A) 26cm (B) 13cm

(C) 244 cm (D) 20cm

07. ¥T% % 3TTergd o forg, o gt W wam, 3t x g W a9, Ha-9ng U1% 1 giel a7 @ / Plotting a
graph for momentum on y axis and time on x axis, slope of momentum-time graph gives.
(A) & §A/ Impulsive force
(B) TIfar=eq / Acceleration
(C) et <l qU/ Rate of force
(D) ¢/ Force

08. fopelt age-wer, 3% @ / Kilowatt-hour is the unit of
(A) Wiershar / Resistivity
(B) =Ieishdl/ Conductivity
(©) ﬁgﬁ St / Electrical energy
(D) ﬁgﬂ W6 / Electrical power

09. fa= & & =-a1 31fsHa 9 8?2/ Which of the following is not an inert gas?
(A) I / Argon (B) A2ISH / Nitrogen
(C) EferT / Helium (D) &SN / Hydrogen
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10. 25% YRI& =1 &1 31 &/ 25% alcohol solution means
(A) 25 ml IE, 100 ml 9T A / 25 ml alcohol in 100 ml of water
(B) 25 ml IS, 75 ml It ¥ / 25 ml alcohol in 75 ml of water
(C) 25 mlISE, 25 ml 9 # / 25 ml alcohol in 25 ml of water

(D) 75 mISIWE, 25 ml 9t # / 75 ml alcohol in 25 ml of water

11. T Mt 1 GuidT T899 8/ Isometric projection of a sphere is a

(A) TH I/ Circle (B) dHgd/ Ellipse
(9] JAfuEe / Hyperbola (D) Y{deTd / Parabola
12. U Thigpa Beoft 9 €t & fog, R st e S dm i gt @ ————— e, p, g H

ﬁ?{% / For a unified triangular external thread, the distance between crest and root is "
where “p" is the pitch of the thread.

(A) 0.75p (B) 0.51p

(C) o0.61p (D) 0.64p

13. fa & @ #19 @, fEslt § wedt e &1 9ia% 8?7 / Which of the following represents the
reducing scale in drawing?
(A 1:2 B) 1:1

(C) 1:05 (D) 4:2
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14.

15.

16.

17.

T T % A & g, 99 98 &St g9ad % FHFETRR | 8 3R Tt ag & e W R/

The front view of a rectangle when it is parallel to horizontal plane and perpendicular to vertical
plane is

(A) @/ Square (B) 3Td/ Rectangle
(C) @1 /Line (D) T3/ Point

= & @ F9-31, 79 ver, St fRR (fixed) WaT 8, W YUY 39 & a1 87 / Which of the

following is formed by revolving rectangle about one of its sides which remains fixed?

(A) @@ S / Hollow cylinder
(B) S / Cylinder
(C) mIaThit f¥7 / Rectangular prism

(D) ¥ /Cube

g afceT o, 3w e mar S firgor § 841 2 / In gas welding, the gas mixture used consists of
(A) wvEg 3R %@Tri'-rf Oxygen and Hydrogen

(B) WmETg 37X Tfkeef / Oxygen and Acetylene

(C) wmvrETg 3R T/ Oxygen and Propane

(D) wmvEyg 37 HI 1 / Oxygen and Coal gas

T8 e W&t %, W S grelt ®i uR u1g & e rdr 8, HEA 2 / The depth up to which

the filler material is mixed up with base metal is called
(A) 389U/ Deposition

(B) el / Reinforcement

(C) zaur (fae™ ) / Fusion depth

(D) ST YT $H / Heat affected zone
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18. frafafaa afeen (ewur) whean, @udt woiwgist %t 3w st ® / The following welding process

19.

uses consumable electrodes

(A) St & T ssg (@ 3R Sf) IGTAW (TIG)
(B) St @ € By (T 31§ Sft) / GMAW (MIG)
(C) e AfEET / Thermite Welding

(D) & afeen/ Gas Welding

<l el @l Sie i wfskan, R w 7-wiera fryurg =1, uig & gwel ¥ A9 § @t omawen |
HQQTWG'I?!T% Gﬁtmﬁﬁmmﬁ, HEAT & / The process of joining two pieces in which

a non-ferrous alloy is introduced in liquid state between the pieces of metals and allowed to solidify
is known as

(A) ZTeRT TTHT/ Brazing (B) afeem/ Welding

(C) AT/ Lancing (D) SThEAT/ Riveting

20. 3 gwel W YE qlF ¥ UHed & U IwANh SR e H wEd & / Small weld used to

21,

temporarily hold the two pieces is called as

(A) et / Crater (B) TR H1g / Base metal
(C) 2 defsT/ Tack welding (D) ¢ / Penetration

WRA § PSLV 3R GSLV The & ¥auq (launching) % e, wad® ®ym, f&@ 2/ For launching
PSLV & GSLV rockets in India, the launch station is located at

(A) #ieftier/ Sriharikota
(B) SIEHUEH / Kulasekarapattinam

(C) ﬁwmagm / Thiruvananthapuram
(D) TR/ Mahendragiri
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22. et TFSIHT 3UUE 'qy% 2/ The earth observation satellites rotate
(A) IW-9d/ North-East
(B) <f&u- g4/ South-East
(C) IAX-GuI/ North-South
(D) Tf&r-uf¥am / South-West

23. g T 98 VI, A8 98 VI A1 AEME & FgT Bl 8, HeAMl & / The property of metal to
withstand shock or impact is called
(A) ImETaEe / Malleability (B) <hSIUA/ Toughness
(C) d=IdT / Ductility (D) YHUUA fBﬁ&!eness

24. 3 A frad 3rfe oy =1 o BT 27 / Which of the following has more elastic property?
(A) disT/ Copper (B) TS /Rubber
(C) g i</ Mild steel (D) st/ Wood

25. T ¥ SM-d g % o, B % fow =@ g =1fge? / Which of the following material
properties should be higher for springs?
(A) d==dT/ Ductility
(B) T / Elasticity
(C) ¥UIUYA/ Brittleness
(D) <hEM¥d/ Toughness
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26. fgo fag o, %opew (Fefora @iaT) 1 701 8/ The purpose of flutes (spiral grooves) in the drill bit is

ar

28.

29,

(A) $1eq & fRAR ST ST/ To form the cutting edges
(B) Tagm =+ Fvsfera A & e 3tk 3= STEX 317 T/ To curl the chips and allow them to

come out

(C) FA= (coolant) I A & fFAR & R §g1 § HgAT A1/ To facilitate the coolant to flow
past the cutting edge

(D) 39UH @t / All of these above

RPM H, fget fag gofa, St Y 7fd, 31.4 m/min 3R feet =5 10 mm % fT@ 2 / Drill bit rotation

in RPM for cutting speed of 31.4 m/min and drill diameter of 10 mm is
(A) 100 RPM (B) 10000 RPM
(C) 10RPM (D) 1000 RPM

IR0 Hig HY fewm afted, qeheft & fore et fean & afafda =@ & fog @t § swawh sE 2/

The unit used in lathe to change the direction of tool feed for the same direction of variation of
spindle is

(A) ¢ ET% / Tail stock (B) & U/ Tool past

(C) TR PR/ Tumbler gear (D) &g W / Head stock

TS STYAT %! Knurling is a

(A) <HTEY T M / Cutting operation

(B) U™ Sh%A =T ST / Polishing operation
(©) = T %M / Grinding operation

(D) M W1 %M/ Forming operation
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30.

M (ufifesgtsr), 3T & / Reamer is an example for

(A) TH-Tg F1eA & I F1/ Single-point cutting tool
(B) Eﬁ*ﬁg I % IUHWT BT/ Two-point cutting tool

(C) wg-Toig % e & ITHI 1/ Multi-point cutting tool
(D) 39U | & I3 781/ None of the above

31. 10 mm =A@ T Al It *1 Aiass, AT § 8/ Metric thread of 10 mm diameter is represented
in drawing as
(A) 10M (B) M&10
(C) MMO (D) M10

32. 100 mm x 100 mm x 10 mm 3T % SR W 1 ¢ 8 (Sl ! g==dr = 7,800 kg/m® / The
mass of the square plate of dimension 100 mm x 100 mm x 10 mm (density of material = 7,800
kg/m?) is
(A) 7.8Thu./7.8kg (B) 0.78%.am./0.78 kg
(C) 7,800 f.1m. / 7,800 kg (D) 780 fsh.71. / 780 kg

33. wfe Seh 3t faf¥® w=ew 1.3 B, @1 59T 2/ If the battery acid specific gravity is 1.3, its density is
(A) 130 f.am./ #.%/ 130 kg/m?® (B) 1,300 f&.um./#Y.%/ 1,300 kg/m®
(C) 13,000 f.am./ #1.%/ 13,000 kg/m® (D) 13/ .3/ 13 kg/m®

34. uwh fve, wh dieh Y@ F 100 m gl 10 kg F 7@ w21 fIvg FH AT 2 / A body travels a
distance of 100 m in a straight line in 10 s. The velocity of the body is
(A) 10TH/TH /10 m/s (B) 100 TH/TH /100 m/s
(C) 0.1TH/THE/0.1mis (D) 1,000 TH/TH / 1,000 m/s
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35. ity yeremYl WA # EHT =1fe¢/ Thermal insulation material shall have
(A) =1 S F1eTehar / High thermal conductivity
(B) WeAH ST ATeTehdl / Medium thermal conductivity

(C) TH= HsH¥ |retshal / Low thermal conductivity

(D) SR ATeThdl | 37TTG / Independent of thermal conductivity

36. Wh A Uqrd, 5m? & &F W 1,000 N T 91 Sioial & es1a feherl 872 / A liquid imparts a force of

1,000 N on an area of 5 m% What is the pressure?

(A) 5000 9%heT / Pascal
(B) 200 F=het / Pascal
(C) 23%hel/ Pascal

(D) 0.005 ¥%heT / Pascal

37. dran 3R o, sk &/ Lead and pitch are equal for
(A) TH Il g€t % T/ Single-start thread
B) Tg-wmoft gt & forw/ Two-start thread
(C) P-yrsft g€t & foTT/ Three-start thread

(D) 39Uh § ¥ SIS 781 / None of the above
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38. 9% ¥ 9, forment wmgve g K I B wdt meud o g wW F forg, s fran Srar B/
The hand tap used for finishing the threads of blind hole to the correct depth is

(A) TIUSThK T / Taper tap
(B) WY AT/ Intermediate tap
(C) (A) 3R (B)THI/Both (A) and (B)

(D) 3ATYK HeT / Bottoming tap

39. Iuur 9fgy & FHEA F, T B THA W R, Tehelt & g famm & femm & fepa
ST 21/ In the grinding wheel tightening, the nut is threaded on to the spindle in a direction

to the direction of rotation of the spindle.
(A) i3 +ft femmr/ Any direction
(B) WM fe&mmm/ Same direction
) fauta ey Opposite direction
(D) 39UTH # & IS 781 / None of the above

40. Yoy 4fgy Y Fqg W AU T HW IR FTEYH & AR I Hl T A Bl Hed & / The removal of

clogs on the surface of grinding wheel and blunt grains of the abrasive is called
(A) =HhqR/ Glazing
(B) WRIf<d/ Loading

(C) STH@H/ Tracing
(D) wfoEroT/ Dressing
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41. BIS yurelt § 8¢ % Hfvs fogem #t S8 giua fsan S 872 / How to indicate fundamental
deviation of hole in BIS system?
(A) 1 8 378 / Lower-case letters
(B) dsT 3A&/ Capital letters
(C) HIeT 31&R/ Bold letters
(D) Tt 378w/ Italic letters
42. 30+0.005 mm ¥ WEAT &/ In 30+0.005 mm, the tolerance is
(A) 0.05 fir.mft. 7 0.05 mm (8) -0.005 fir.ift. /-0.005 mm
() ofwd./0omm (D) 0.01 f1ft. /0.01 mm
43.  20%% mm % B¢ 3 20729 mm 9 HT FAN & / The combination of 20*2%° mm hole and
20:297% mm shaft is a
(A) Tt fihe / Clearance fit
(B) uftads f%e/ Transition fit
(C) =&Y fhe/ Interference fit
(D) 3IWI H B HIE T8/ None of the above
44. neg et §, 9 (A1) 1 AT B/ The angle of tip in centre punch is
(A) 30° (B) 45°
(C) 60° (D) 90°
Qidw efesnCleuafl oyrmisd Hniaien o fsiw eustran/
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45. el WAl o 1 I He4 &1 I gl FK &is &1 U= &/ The most suitable pitch of hacksaw

blade for cutting thin section tubes is
(A) 2mm (B) 0.8 mm

(C) 1.4mm (D) 1.8 mm

46. ﬂ’fﬁm GRT 9199 <ht Wﬁw gt/ The accuracy of measurement by try square will be
(A) 10 Ty, ewarg & 0.02 fr.ft. 7 0.02 mm in 10 mm length
(8) 10 fr.oft. ewag # 0.2 fir . 7 0.2 mm in 10 mm length
(C) 10 fy.fi. =g & 0.002 f.7t. 7 0.002 mm in 10 mm length

() 10 fir . ewarg & 2 Y. /2 mm in 10 mm length

47. TH-HRE FAH, AT W@ HISd H 2 /Ina single-cut file, teeth angle to the centre line is

(A) 90° (B) 70°
(C) 51° (D) 60°

48. gl wrpft O 9t +ft 8, W@ A Iwnft e 8 / The file used in cases where there is a heavy
reduction in material is

(A) Tt B/ Smooth file
(B) <% fuedt % / Dead smooth file
(c) Tedfim =12 %A / Second-cut file

(D) Qe %l / Bastard file

14 Bidw eflsimrbleust] g rmisd Hmaisr 2 hgio euemnaib/
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49.

50.

30.5° =ior 7 31ef B/ 30.5° angle means
(A) 30°30' (B) 30°0'
(C) 300" (D) 30°15'

Bft 7, fremt i et ﬁg T, ehld I N 8/ The sum of rake angle, point angle and

clearance angle in chisels is
(A) 45° (B) 90°
(c) 118° (D) 135°

51.  JrcgMiam it H Hed & Bl & T, f9g % I 8/ The point tip angle for chisels to cut
Aluminium material is
(A) 65° (B) 55°
(C) 45° (D) 30°

52. gfFeR TR &, &I The W, T T Tho fawed 1 . 3fit 50 wm fawe (affr wha W)
49 fawrs (49 fir ) 8id €)1 IR =1 =Faw TOET 8/ In vernier caliper, one main scale division is
1 mm and 50 equal divisions of vernier scale occupy 49 divisions (49 mm) on the main scale. The
least count of the vernier is
(A) 0.02 fir.dft. 7 0.02 mm (8) 0.01 Tt /001 mm
(C) 0.05 7.1t 70.05 mm (D) 0.049 fir.fi. 7 0.049 mm

63. M 10 x 1.5 frdft. srgedt ¢ & for (eagiies A & STHER) smawas 9 fga &R 7/
For M 10 x 1.5 mm internal tapping, the tap drill size required is (as per the practical approach)
(A) 8.5 /85mm (8) 10.5 fa.#dt. 7/ 10.5 mm
©) 1.5®A. /11.5mm @O) 7™ /7 mm
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54.

55.

56.

Th G Ghal WIS, S IR A Brepioh § 3wt fiet T1 6 gy § 3R 36 Hor T % T &
Y Th ThaleR g, s daee /A safety sign board triangular in shape with yellow

background and black border and a symbol means

(A) #\& - f89/ Prohibition
(B) dTadl/ Warning
(C) = ferar ST =fgT / What must be done

(D) 'qfﬁ'd L& 94 / Indicated safety provision

¥fie & Ml & qoF # IuArft, = § @ wH-91 872 / Which of the following is used to measure

the sheet thickness?

(A) e I/ Sheet gauge (B) IR N/ Feeler gauge

(C) TR HfTWR / Outside callipers (D) TR 7 / Wire gauge

T gUie i ge fafdreand €/ The major specifications of a hammer are

(A) AT 1 3o TR &1 3™ 31§ 1 37K / Dimension of peen and shape of peen
(B) ®AE it wrmg 3R fiF T 3HR/ Length of hammer and shape of peen
(C) 2vsd s @aTg 37T fiF T 3MHR/ Length of handle and shape of peen

(D) i T ¥R 3R 3R / Weight and shape of peen

16
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57. et gl Y@l i Fed 3R gaEt TRl & s +0 % e 1 39T
IETIRSIGH] 'E'I / To cut the ingide curved lines and for trimming curved edges, is used.
(A) A =1 RRRR/ Timan's shear (B) AT f3RR / Block shears
(C) dvg fera/ Bend snips (D) & f&g/ Straight snips

58.

59.

60.

Frefafaa 4 @ fod e ameht & fog sua =& fomar ST gha1? / Which of the following cannot

be used as rivet material?

(A) @ddl @Igl/ Cast iron (B) g Wi/ Mild steel
(C) €T/ Copper (D) 3TegifEm / Aluminium

(meift e et F o) a1g % FRR A, R % wer @, =maw g B =iy (Rae =@ %

TT) / The minimum distance from the edge of metal (for machine-cut elements) to the center of

the rivet should be (for the rivet diameter "d")
(A) 0.5d (B) 2d
(C) 3d (D) 1.5d

gl 79, T/ Surface gauge is one of the

(A) U1 ATt 3TN & / Angle measuring instrument

(B) 3Tg&~l ST HTHY 3T 2/ Inner diameter measuring instrument
(C) WEUYH HTHt 39hiUT / Roughness measuring instrument

(D) Tufea saTem 3U=HTUT / Marking tool
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FINAL ANSWER KEY FOR WRITTEN TEST HELD ON 10.04.2022

Question No. Question Booklet Code

A B c D E
01 C A c c A
02 B D B = 5
03 A C B B 5
04 A —_— c 2 A
05 B C c A A
06 A B D - c
07 D B B B A
% ¢ c B A B/D
09 *kk C A A 5
10 B B B = 5
11 A C c B 5
12 C B D 2 5
13 A C D c 5
14 C D c R c
15 B B B A 5
16 B B A = A
17 C A A c 5
¢ B D B ok D
19 A C c B c
20 C D B = 5
21 A B A 5 c
22 C C B = 5
23 B D A A A
24 C D c c A
25 B B A A 5
26 D D c R 5
27 D D A B A
28 c C B/D D C
29 D B D A A
30 C A A R 5
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*** Question not considered for evaluation



